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Q1.Define the term ‘mobility’ of charge carriers. Write its S.I. unit 

Answer: Mobility ൌ   ୈ୰୧୤୲ ୴ୣ୪୭ୡ୧୲୷
E୪ୣୡ୲୰୧ୡ ϐ୧ୣ୪ୢ

 or, µ ൌ   ୴ౚ
E
 

 
The SI unit of µ is mଶVିଵsିଵ.  
 

Q2.In a series LCR circuit, VL = VC ≠ VR. What is the value of power factor?  

Answer:   

We know that in an LCR series circuit, power dissipated is given by  

                                    P ൌ IଶZcos Ԅ  

               Hence power factor ൌൌ cos Ԅ ൌ  
P

IଶඥRଶ ൅ ሺXC െ XLሻଶ
 

׶ VL ൌ VC and XL ൌ XC  

׵ cos Ԅ ൌ P
IమR

  

Q3.The focal length of an equi‐convex lens is equal to the radius of curvature of either face. What is the 
refractive index of the material of the lens? 
Answer:  We know focal length is given by 
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Q4.Write a relation for polarisation PሬሬԦ of a dielectric material in the presence of an external electric field EሬሬԦ.  
Answer: We know that polarisation PሬሬԦ of a dielectric material in the presence of an external electric field EሬሬԦ 
is related as   P ൌ χୣE  
 
Where, χୣ is a constant characteristic of the dielectric and is known as the electric susceptibility of the 
dielectric medium. 
 
 
 
 


